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15th June  

  

30% of the children in a class are  

left-handed. 

 

There are 20 students in the class. 

 

How many children are right-handed? 

 

 

Write down the first 3 prime numbers  

Here is a shape made from two identical 

squares and two identical rectangles. 

 

 

Work out the perimeter 

25 × 14 × 5 75%  of  608 
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15th June  

  

These are the prices for school dinners in 

a primary school. 

 

 

 

 
 

 

£8 will pay for 5 school dinners for one 

child. 

Work out the cost of one of the school 

dinners. 

£62 will pay for school dinners for 20 days 

for 2 children. 

Work out the cost of one of the school 

dinners for one child. 

Simplify  
 

    2�  +  7�  −  �  +  3�  

 

5

6
 ×  

9

10
 96 +  4 × 5 
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16th June  

  

Put these numbers in the correct place on 

the diagram 

 

    6    7    12   13   14 

 

Circle two different numbers that multiply 

together to make one million. 

 

 

100    1,000    10,000    100,000 

 

Caleb thinks of a number 

 

He divides it 4  

Then he adds 15. 

 

His answer is the same as his starting 

number. 

What number did Caleb start with? 

 

80 ÷ 1,000 2  ×  1
1

4
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16th June  

  

Josie and Kirsty each get the same pocket 

money. 

 

Josie spends 80% of her pocket money. 

She has £3 left. 

 

Kirsty spends 30% of her pockey money. 

How much does Kirsty have left? 

The table gives information about the 

results of the matches a rugby team 

played. 

 

 

 

45%  of  240 
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17th June  

  

50% of a number is 30 

 

What is the number? 

 

Almonds cost £1.20 per 100 grams 

 

What is the cost of 250 grams of almonds? 

 

Cafe Red sells 3 sandwiches for £5.28 

Sandwich World sells 4 sandwiches for 

£7.00 

 

 

Which shop is better value for money? 

 

3

4
=

39

⬚
 6.35 +  2.915 +  5.2  
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17th June  

  

Draw two quadrilaterals with diagonals that 

do not cross at right angles 

 

 

What number comes at the end of row 30? 

Which row has a sum of 204? 

3

5
 +  

7

12
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18th June  

  

Matt asked 28 people to see how they 

travelled to work. 

 

Matt says, "exactly 10% of the people in 

the survey said they travelled by train." 

 

Explain why Matt is wrong 

 

Write these numbers in order, starting with 

the smallest. 

 

9.21    9.091    9.119    9.2    9.29 

 

Three whole numbers have a mean of 30. 

 

All the numbers are different. 

 

Write down three possible numbers 

 

 

 

 

 

 

1

4
 =  85 × 41 
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18th June  

  

There are 600 members of a running club. 

45% of these members are male. 

 

Work out 45% of 600 

 

Solve this equation to find the value of y 

 

40 −  2�  =  22 

 

Draw a cuboid with half the volume of the 

cuboid shown. 

 

4

9
 ÷  2 
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19th June  

  

Michael and Rosie each have a bottle of 

water. 

 

Michael's bottle contains 1   litres 

 

Rosie's bottle contains 2.2 litres 

How many more millilitres of water does 

Rosie have than Michael?  

This shape is made from four identical 

curves 

 
 

The perimeter of the shape is 32 

centimetres. 

 

A new shape is made out of curves of the 

same size 

 
 

What is the perimeter of the new shape? 

7

20
 +  

1

5
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19th June  

  

M is the midpoint of PQ. 

 

Find the coordinates of Q. 

 

Find x 

 

Find the fraction halfway between 

 

 

 

7%  of  300 


